UTSgH
A=ar3 faeat
TS SRSt

furfe ar &7

ey-gmar

AE-93&7 M3 AE-MGHHS

59 & ITHST
qdtig yf3 9357

3IIIHITS AT

AT grdaT=t
A € At =93
Hoets, féease, ¥H99
Aust & ged3

wUAt farg

g9l €t Ag®

A=t

feer Jor & fea mer 31
Fe et w3 fegg

IHEI! MI ot

&3 w3z feg=r =r
YJIeT=T

Ag & ASiadaT

Erg e

THIT

WG Afgeat sSte
AHY €T 359

oA faedt =
feam

3fsg g=a feamw

FE&STET T I
FIE=T & AT YIreT=eT
gt &% fegas <t
BT

srfedt fayer

AT &= <t HarsT

ey feg fag &t 5=
SHST &< €T J&d
W3 feme™ @ 139
WY B € <93

I '3 Ty fa= urete?
39 & F=esr &% fa=
SfastE?

T fa= gdle?
feamaaaT

YIT=HBI 99

«

femgra/ygre=
TH-UYt st
feeafeg = Astar
AHHPHI

10.

IS &TH STHSST

IESd @ I9G
ECALICaR: U
& W3 e feb




Yyt UsaH
Frar (€)
Us-YASY AETAT3 fraedit €t ArgTaT faferr=t | =gamte, Mgt yrsT=at € »utg '3 yay|

20 W

gar

Ha 3 fafenr aeee fo3 fegt fes agt fafor™ gaa et mrfir araar|

1. WS THTET AHT Adat 9S8 aT

2. WMUST g3 AHT ATgat ISTEET

3. feegae 3 Taet (G K) &t AHardt feasa aaaT!

4. WMUSE AGS & < € AN €1 IBUET JdaT 3 witmmuat w3 Aratnt 3 ffeas & asusT § faudt gu g

5. fon @8 g7 g9de IBI 3T Hee 3 Adt ySifafonr =

6. fan =& vara §3€< A 303 fev uat 39 €< '3 At ySifafenr ot

7. MUE wE-emd fET mifadt Ji &1 9< J9at A ¥ U 3 TU AgdsT Udhit a9 €<

8. wuE fan At € 979 gret § feueT)

9. fam fe3 3¢ U9 & Fuy g9&T w3 Grer ga frgay faueTi

10. fon eng fAe fagmy, 32 g9, s mfe § 0 3 v gut feg =gz

11. fan feq =a/Te3sy g U 3 U 3difant 5785 §527

12. fam wesT 7 3799 g9 Frfedt e fausTi

13. WU fora3ae W3 T3 MgHd ga<t fa 3T geaT 3 87 79 @rsT|

14.  ofgyr g4t Afgst oo Aot 37T 8 & 0% J9a7I

15.  w™ HY 7 feqaEsT & Hew &7 fan 833E/udst (puzzle) T ITH JIST

16. fan 983 WS Gua =e-fese A gfor gt 399 €< 3 A&

17.  HITHaled A CR & 9< feg »ue et Af Arel 381 yg'9 J9s7|

18.  feeafel 3= w3 feeafel o< &t fafor Asta &% JaaT!

19. fedrd, I/=-3'= (Body Language) #d1e fan Aew €7 AY9 J9&7I 10 ¥
garT e

HiYg yaa3dt (viva) €9 us yrsa € 9 yas U's Aedr| Adt €739, feeafeg e € Sa/msid W3 midt
A3 € yge & forrs fe'g gue 98 #ia fe3 Arear: fA=:

AYAs € TS 5%

feeafel nfasw : Astar, »ma fere™ 3 IUHZ &7 Y@= 5 T (5+5) =10 W



